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1 Fillin the following blanks with the correct answers.

(—2-r2y)f‘+15y+(—2x3y3)=L '

/5 /30 /35 _|
3+l v8 2 T '

, a b L xr+4
When =075 = 927 15,43

is an identical equation,

a=‘_® ] and btr@ ’

There are four continucus odd numbers. When the total is 224,

The largest integer x that satisfies the inequality 8- <%

the largest odd number is

is’@

The number of integers x that satisfy the inequalities 2 <log, 45 < 3

iSE@ {

When one of the solutions of equation x*tax?*+x+1=0 is z=1,

a= (1) ’ and other solutions are z = E)

Under 90" =4¢ =180°, when cosé = —% ,then &= [@'

and when siné :% , then cosf = E} ‘ X
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(8] There are five numbers: 1, 2, 3, 4, 5.

How many three-digit integers can be made using three different numbers?

|

The answer is ‘@ ', Among them, there are ’@
L | l

integers which are larger than 400,
(9) Let vector a=1(2, 3) and b= (-1, 4). When r—a=b—x . then
) - [

Q0 Let f(x)=-x*+6x>—-9x+1 .

(i} The derivative f (x)= W

, |
(i) Under 0=x=3 the minimum value of f(x) is )
L

2 Thereis a parabola A: y = x*—4x -5,

(1) The coordinate of the vertex of the parabola A is (| i
) ‘ ), and the x-coordinate of the intersection of the parabola

A and the z-axis is |3 ~’ .

(2) The equation of the parabola which moved the parabola A symmetrically

l
with the origin is ¥ = ‘ .

(3] When a straight line B: ¥ =2x+% touches the parabola A,

k= t@ E and then the area of the portion which is surrounded

by the parabola A, the straight line B, and the 7-axis is (&)
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3 Choose equations showing the graphs which move the following graphs

symmetrically with the v-axis, and choose the answers from those numbered

from (U to 5.
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1) y=sinx 2) y=cosx @ y=-—sinx
@ 3xr+2y—-2=0 & 3x-2y+2=0 6 3r+2y+2=0
@ y=i—x(x+1) y=—-xjr+1] ® y=|-xi(x+1)
2+t 4+2x =0 A x*+y*-2xr=90 @ x*+y'—2y=0
B y=2 y(%) © y=log,x
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